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1. A sphere of weight W is held by two wires AB and CL. It AL 1s ent, find the tension
in CD, {25%)
(a) before AB is cut,
{b} immediately after AB has been cut,
{(c) immediately after AFB has been cut if AR and D are chahg;cd to LWO SPRINGS.

9 The circular disk of mass M and radius r is released from rest with 8 = 0° and rolls

without slipping on the circular guide of radius R. Calculate the angle # al which contact

(¢) The maximun angle through which the rod will swing after the coilision.

between the disk and the guide ceases. (25%}
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3. A 3kg uniform slender rod AB 800mm long is released from rest when it is horizonial
'.1 ; 5
as shown in figure. If a 0.03kg bullet with the initial velocity of vo = 350in/s strikes the 7T ¥ _
rod when it i3 vertical and becomes embedded in it, determine: . (25%) ! :' .:
{a) The angular velocity of the rod and bullet immediately after the hmpact. e : I:
b
(b) The total system energy lost in the impact, o !
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4. For a fout-bar linkage , Ly= 100, Ly =200, Ly=320, find the range of values for the

Lyif the linkage will actas a
{a) crank rocker mechanism  where link 1 rotates through 360° ) 4%

(b) drag link mechanism 4%

{¢) double-rocker mechanism 4% g

(d) change-point mechanism A% . L3
{(e) Grashof mechanism 4% ! !

(f) Non-Grashof mechanism. 5% SIS
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